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Coordinate Geometry -
11 The Line

Section 11.7 Intersection of two lines @

Use simultaneous equations to find the point of intersection of the lines
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Exercise 11.7

1. Using the one diagram, sketch the lines
x+y=5 and x+4y=8.
Use your sketch to write down the point of intersection of the two lines.

2. Use the diagram to solve these y —y=h1
simultaneous equations: ¥
x+ty=4 ki
x—y=-1 3

3. Asketchofthelines2x +y =6
and x + y = 5is shown.
Use the sketch to write down the point
of intersection of the two lines. 2&x+y=6
Now use simultaneous equations to

verify your answer.
N\

Use simultaneous equations to find the point of intersection of the following pairs of lines:

4. x+ty=5
x—-y=1

Use simultaneous equations to find the point of intersection of the following pairs of lines:

5 x—-y=2
u+y=7






Use simultaneous equations to find the point of intersection of the following pairs of lines:

6. 2x+5y
x—3y=-5

Use simultaneous equations to find the point of intersection of the following pairs of lines:

7. x+2y=-1
2% —3y=—9

Use simultaneous equations to find the point of intersection of the following pairs of lines:

Use simultaneous equations to find the point of intersection of the following pairs of lines:

9. x—7y=4
x—y=-8

Use simultaneous equations to find the point of intersection of the following pairs of lines:

10. 2x—3y=4
2x+3y=-8






Use simultaneous equations to find the point of intersection of the following pairs of lines:

M. 3x—2y=17
4x+3y=0

Use simultaneous equations to find the point of intersection of the following pairs of lines:

12. x+3y=13
2+ 5y =21

13. Use simultaneous equations to verify that the lines
2x+3y=12 and 3x—4y=1
intersect at the point (3, 2).

14. In the diagram, the lines AB and CD are perpendicular

to each other and intersect at the point (1, 4). A
The line AB crosses the x-axis at (3, 0). P b
Calculate the coordinates of the points P and Q. q
1,4)
Q
| 3\ x

Exercise 11.7

1. @41 2. (1,3)
4. (2,3) 5. 3.1
7. (=3,1) 8. (-23)

10. (-1,-2) 11. 3, -4
14. P(0,6), Q(-7, 0)






